Name ________________________  Period ________ 
 Review 2.  
Directions:  SOLVE, COMBINE LIKE TERMS AND SIMPLIFY the following.  Place answer(s) in the blank to the right. Questions 1-10 are worth 1 points each.  Use the set of { 
1. 3x(2x –1)  – (– 8x2 – 4x) 
1: ______________




2.         – 2(x2 + 2) + 3(– x2 – 5) + (–4x)2 
2: ______________
SOLVE AND SIMPLIFY.

3.     ( (( 2 ( 6)  + ((5) ( {( [( (9 ( 11) + 8] + 20} =                              
3: ______________

4.         3( 2x2 – 22) 2 – 80 = 220 
4: ______________

5.       –3(–2x2 – 1 ) + 4y2 + ( – 10x) + 3               where:   x = – 1 and y = 9  
5: ______________
6.       (⅞) x +  (– 8)  =  (⅔) x  +  3           

6.______________ 

7 .    In seven years, Mason will be three times Dixon’s age. Today,  
7: ______________

         Dixon is thirty-two years younger than Mason.  How old is Mason?

8.    Determine whether table (a.) is a function or non-function AND write the domain and range.

(a.)  

                                              
8: ______________

                                              What is the domain for table (a)?                                Domain: ______________

                                              What is the range for table (a)?                                    Range: _______________
9.   Solve the Following Algebraic equation with pictures: 

                                       3 – 2[x – (– 4x) – 2]  =  17 

                        

                                     =                                                                         =                                          

10.  Solve for the variable x in the following figure.  Perimeter = 198 meters

                                   4x – 13

             x                                                       x    
10: ______________

          x                                                               x

              x                                                      x

                                   4x –13
Price(x)    Shipping Costs(y)





0.50


0.50


0.51


0.51


0.52








